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Read the following passage and answer the questions 1 to 5:

In the post-independence period, the national government made the anti-caste
campaign a part of its state policy, through propaganda, laws, educational concessions
to backward castes, financial aid and reserved jobs. The efforts of the national
government to destroy the caste system by providing propaganda, laws, financial
assistance to the backward castes and reserved jobs have continued unabated.
When India ranks high among the leading democracies of the world, it cannot be
acceptable to discriminate between people based on birth in a nation that is the
cradle of democracy. Since the basic principles of democracy are against the caste
system, it came to pass that the caste system cannot continue in democratic India.
The efforts made by the government in this regard have been very successful and thew

rate of education among the backward castes is increasing. To the extent that the

lower castes become educated, the distance between the castes will dissolve.

We will try to analyze whether the caste system survives in India today or not on
the basis of the following factors. Existence of caste system depends on the following
qualifying factors. (1) Determination of prestige by birth, (2) Prohibition of choice of
profession, (3) Prohibition of exogamy, (4) Discrimination between castes in social,

political and religious rights, (5) Superiority of the Brahmin caste.

The vitality of the castes can be imagined from their existence in the society.
Therefore, on the basis of these five aspects, let us now discuss the existence of the
caste system. According to the scholars of caste system, the caste system has been
eradicated. Today, a person’s reputation does not depend on the caste he is born into.
Freedom of choice of occupation has been granted to everyone by the Constitution
itself. The social superiority of Brahmins has always been usurped from them. From
all these things it is not a problem to draw a conclusion that the caste system has

almost been destroyed.
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Freedom of choice of profession has been granted to everyone by the constitution

itself. It is no longer possible to force the child of the matangas to remain a matanga.

It is no longer possible to decide which occupation one should do according to caste.

The spread of education and the educational and financial concessions given to the

backward castes have forced the society to adopt a liberal policy towards business.

Although this is true, some castes prefer to stick to their traditional occupations.

This is also a fact. A person takes two things into consideration while choosing any

business, profit earned and the social status acquired through the business. According

to Davies, the prestige of any social place depends on the importance of the occupation

™ that the place has to offer.

1. wrefiet qaintsh Fird fem g A 7

(1)

(2)
(3)
(4)

T, g1 APTECIed FeahHe fS1emm=a aTeea THIoTHE RiETtesh g9ar Faf
EIUAE TEA e

"aWTd fatdid wATS R ove foskrere ded AT

TG TSTHedIe aqe A0 S8 R0 a2 Tt $euTe HH §1vard Hed g
ATHITE AN T Sraeaed=an fawg =

Which of the following statements is not true ?

(1)

Increased level of education among the socially backward sections helps

to bring the social equality

(2) A society without discrimination is not a principle of sustainable
development
{3) Provisions in the Indian Constitution and government policies help to
reduce caste discrimination
(4) The basic principle of democracy is against caste system
THoedT HIATATST AT / SPACE FOR ROUGH WORK P.T.O.
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2. @eend F fFam S 3 ?
H. TS AT e ® AT [T e T,
q, G TSHen sl HOHTE AUTE SRS AT Sefure faee Heearn 3 .
&,  WATT GET g AT 9 S T SRy 39T 3778, T WA §HIS Sy g

qUiqUT I=Ted el AT
(1) H, &,
(2) #,d
(3) #A, =+

(4) SAUh FIordE ATE

Which of the following statements is correct ?
A. Absence of social inequality is a sign of development of India. ‘.
B. Educational development among backward elements is not important to -
reduce social disparity.
C. Indian society stands on the boundaries of class and caste, so the caste

system has not been completely abolished in Indian society.

(1) A B, C )
(2) A B
(3) A, C

(4) None of the above

3. dieuawe A ST Greftetieh! hord foum o 18 ¢
(1) =1 LTS TR WHTF Jfqsal
(2) SHTIEST Fged 81 T IaEdTd! Aeeara fawg 3T
(3) TR, TSR It sl siftrerri=n aedia SrEuT AT el
(4) =FEm Fade w TEn

Which of the following statement is not true for existence of caste system ?

(1) Social status based on birth
(2) Doership is an important issue for caste system instead of birth
(3) Favoritism towards socio-political and economic authorities

(4) Lack of freedom of choice of occupation
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Consider the following statements :

A.
B.

(1)
(2)
(3)
(4)

According to Davies, the prestige of any social position depends on the
importance of the business assigned to that position.

While choosing a business, a person thinks about the financial gain
from that business and the social prestige gained by the business.
Both of the above statements are true and B is the reason for statement A
Both of the above statements are true and B is not the reason for statement A
Statement A is correct, B is false

Statement A is false, B is correct

5. @idictehl S [&Fam e 18 7

H,
g,

ED
(1)

auTd FHagi=a1 WA T - e e FHHl 20 Hed B,
AT &A1 ey wiaest #1 =uaam fada FoEE uag aed JrE.
A, * (2) @, (3) =€, 9 (4) T T

Which of the following statements is true ?

A.
B.

C.
(1)

Freedom of choice of occupation helps in reducing caste discrimination.

Development of the liberal policy of choosing occupations is due to the
spread of education and concessions to the socio-economically backward

sections.
Social and religious prestige has no influence on career choice.

A C (2) B,C (3) A B (4) All of the above
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Read the following passage carefully and answer the Q. No. 6 to Q. No. 10.

On top of nuclear war, in the coming decades humankind will face a new
existential threat that hardly registered on the political radars in 1964 : ecological
collapse. Humans are destabilising the global biosphere on multiple fronts. We are
taking more and more resources out of the environment, while pumping back into it
enormous quantities of waste and poison, thereby changing the composition of the
soil, the water and the atmosphere.

We are hardly even aware of the myriad ways in which we disrupt the delicate
ecological balance that has been shaped over millions of years. Consider, for example,
the use of phosphorus as a fertiliser. In small quantities it is an essential nutrient for
the growth of plants. But in excessive amounts it becomes toxic. Modern industrial
farming is based on artificially fertilising the fields with plenty of phosphorus, but
the high-phosphorus run-off from the farms subsequently poisons rivers, lakes and
oceans, with a devastating impact on marine life. A farmer growing corn in lowa might
thus inadvertently kill fish in the Gulf of Mexico.

As a result of such activities, habitats are degraded, animals and plants are
becoming extinct, and entire ecosystems such as the Australian Great Barrier Reef
and the Amazon rainforest might be destroyed. For thousands of years Homo sapiens
behaved as an ecological serial killer; now it is morphing into an ecological mass
murderer. If we continue with our present course it will cause not just the annihilation
of a large percentage of all life forms, but it might also sap the foundations of human
civilisation.

Most threatening of all is the prospect of climate change. Humans have been
around for hundreds of thousands of years, and have survived numerous ice ages
and warm spells. However, agriculture, cities and complex societies have existed
for no more than 10,000 years. During this period, known as the Holocene, Earth’s
climate has been relatively stable. Any deviation from Holocene standards will present
human societies with enormous challenges they never encountered before. It will be
like conducting an open-ended experiment on billions of human guinea pigs. Even if
human civilisation eventually adapts to the new conditions, who knows how many
victims might perish in the process of adaptation.

6. Which threat was not recognized by global politicians during the second half
of the 20™ Century ?

{1) Nuclear war threat

(2) Ecological destruction

(3) Threat of degradation of human life
(4) None of the above
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7. What is the reason of destructive effects on sea life, according to the passage ?

(1) Use of artificial nutrients
(2) Over use of natural resources

(3) Excessive use of phosphorus in farming that gets washed into sea, rivers

and make them toxic
(4) Nuclear Testing

8. Which of the following statements are true in the context of the given passage ?
a. Human beings fully know that they are causing ecological imbalance
b. During Holocene period, climate was stable
¢. Modern industrial farming is based on overuse of phosphorus
d. Amazon rain forest will not get destroyed irrespective of man’s
disruptive activities
{1}) aandb (2) bandd (3) bandc (4) only b
9. Match the following.
A B
a. exist [. be faced with
b. enormous II. large number of something
c. encounter [II. complete destruction
d. annihilation IV. survive
e. myriad V. extremely large
a b c d e
(1) 1 1 nm v v
(2) 11 1I [ v Vv
3 v Vv I Ir 11
(4) 1 m v 1mn v
10. Choose the most appropriate option :

Modern man has turned into , according to the writer.

(1) guinea pig to do experiment on
(2) an ecological mass murderer
(3) an ecological serial killer

(4) both an ecological serial killer and mass murderer

Heedl HIUTATST AT / SPACE FOR ROUGH WORK

P.T.O.



@ 10 R17

U IARAE 9. . 11 4 9. 3. 15 = I,
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Tqu T aree TR, (381, 25 Tfter e AT A 250 i 9fd oA wHa areen ). ams gEtEda

S TR U= 107 STl 318 371707 R Tara ST Taieiia see 984 3Tl 377

i. 1900 = TIEFM T &% 50%, 1950 = Z9ERE 40% 301 2000 =1 T8 30%
TERIE Ffl TR A &1 B, 168 A1sad ), AT uei=m aree A, w1t @ Ia ST,
R,

i, AfosRIere T TR ST TEUqed TR 21 HATEd. FISIeedT= S Jed 318 3701 qione

iii, 9 =TT T 6.

tv, STENE FHE 3 FETRAT T 1.

v. OIS 3T ST=TEREe Hed W 107 e aeme a7g.

vi. TSaTed Sy AT 3 A AT G S STASE, Hoh S SATFITES AT AR a1
Y ST e foiesd STTEd T3 SATFe UTA,, ST <2, SFTicrh aTTHT J7e S0 SHaw e
FaTe T 21 eiaTemed SRiRIeaTig WaT 23 ATEe U dTaHHaTs YT e,

T e S, TTUATE ST S0 HTa 21 SATRTEE T2 ST eTed] SWIe=T {SfeRorT e Sirvamd wfdere

IWAT U ATE foan wmgd s1efteh F1e FATRTSIN UTeh Feloa el S qITHiEe 3T6d. a1 o

ST /IS / T T AT ITSH 2.

Read the following passage and answer the questions 11 to 15.
““Global Environmental Changes’’

Human population has been growing rapidly. It has crossed 6 billion mark
in 1999. Per capita consumption of resources has increased to many times
(e.g. 25 litres of fresh water to 250 litres/day). This has strained in life supporting
system of earth and brought about a number of environmental changes on a global
scale.

i. Forest cover of the world was 50% of land area in the decade of 1900, 40% of land
in the decade of 1950s and less than 30% in the decade of 2000. It has resulted
in increased desertification, irregular rainfall, more floods, increased soil erosion,
loss of perrenial flow in rivers, reduced ground water and therefore, increased
drought.
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ii.
iii.
iv.
V.
vi.

rad

More and more people are migrating to towns and cities. There is rise in the number
of slums and consequently, an increase in filth and pollution.
Increase in quantity of solid wastes.
Rise in industrial wastes and pollutants.
Increased passage of fertilizers and pesticides in water bodies and food chains.
High rate of consumption of fossil fuels is adding CO,,, SO, and a number of other
gases and chemicals into the atmosphere causing acia rain, ozone depletion, global
warming and frequent foggy weather.

Green House Effect is a warming effect found in a green house by allowing solar
iations to pass in, but preventing long wave heat radiations to pass out due to

glass panes, water vapours and carbon dioxide. Because of it, green houses are used
for growing tropical plants in temperate areas. Green house warm up is similar to the
inside of a car parked in the sun for an hour or so. Dusty/humid/cloudy nights are
warmer due to this phenomenon.

11. SWST 2000 =1 GG JHER 3l e arer B ?
(1) 50% U&7 g (2) 60% U IR
(3) W 30% (4) 30% Yer =t
How much forest cover of the world was of land area in decade of 2000 ?
(1) More than 50% (2) More than 60%
(3) 30% only (4) Less than 30%
12. 1999 arefl wmEt ke fFd et 7
(1) 437=3 (2) 5 #Hed {3) 637 (4) 339
How much was the human population in 1999 ?
(1) 4 billion (2) 5 billion (3) 6 billion (4) 3 billion
13. SIS SATET=1 <ETHgE FIE Hehd 3g9ad AR 7
A, H#RME wEEE
B. &t A6 AR
C. JBFF
D. 3w A1GAT 3R
TN 01 faer /faem saren smmed ?
(1) A% (2) A, CcefiD (3) AsIB®E (4) A, B3nfUiD
Deforestation in the world has resulted in which calamities ?
A. Irregular rainfall
B. Increased ground water
C. Desertification
D. Increased drought
Which of the statement given above is/are correct ?
(1) A only 2) A,CandD (3) AandBonly (4 A, BandD
HeedT HIHTATS AT / SPACE FOR ROUGH WORK P.T.O.



14. TEH M1 ST 350 TGS H0Q U0 A0E ¢

A, FTAITHT

B. &M= =M™

C. =3 gdMHMH

D. FFIR YFIF gaTH
FeTeht HIord Taam /o st=r s1mea ¢

(1) A %3 (2) A =7for B wad

(3) A, BaforD (4) A, BanfiiC

High rate of consumption of fossil fuel resulted in which effects ?
A. Acid rain

B. Ozone depletion

C. Clean weather

D. Frequent foggy weather

Which of the statement given above is/are correct ?

(1) A only (2) A and B only
(3) A,BandD (4) A,BandC

15. e 9fiomy T2t SR 7 J9HT SEeTTE hvfdl F IR SR 7

A. T EITEWE R Wl 33 TSR Tk arawTare T97e 311

B. TTETEA IWIET U AT JATHTIA UTeh shetedT hICe AT THTHRE! ST

C. TN HUTG IS FFeud! aTefauarETd! Sderan ara a1 9,

D. AR gfommme T I9En BhTa.

FIeeh! 0T faam /faam e smeq ?

(1) A% (2) AU B®HE (3) A BaWD (4) A, B, CaAMD

What is green house effect ? And what are the reasons for climate change ?

A. It is warming effect found in green house by allowing solar radiation to
pass in.

B. Green house warm up is similar to the inside of car parked in the sun
for an hour.

C. Green houses are used for growing tropical plants in temperate areas.

D. Green house effects causes warmer nights.

Which of the statement given is/are correct ?

(1) A only (2) Aand Bonly (3) A,BandD 4) A, B, Cand D

THAT HTHTHTS! JTTT / SPACE FOR ROUGH WORK

A




Y& IaWT AT 9. %. 16 9 20 <t I Em.
el 3T St femet e s TaTfos stdfieiEn S, TR ST ST e Sid. g o
Tl amie snfor an s =T FoT=n == i s fSasrase A g swen g, gfond,
i guTSeIEeTEl e fato g s fato seht. 96 FE aremm=n Fvrendt g @
S et e st

fore weuTSl Sares e mifed = d=E TEAY. HIOET W HMT aErE g Feperd Fedn Jm
3Tt R U ST g 9 T STEere] o TTeTe 1T, S0 39 daSiarcars s o] oia-as
T =11 T AR @R Gt IrTe GERETishs (NG ) TR . ARE I T 98T S
ST T STy SeRITYTT el AT HIERIEH 3066 S1° =1 AaWanaTaUeTaia (d o SRt shat
o AT o1 e T TR, ST —JeaTe Ta = Y TeeTdesh YehTea 33 e e, TaH e
TR T T9ed savre € et foras A s o sttt e sorel! fomd, seamearen
TS TgaTge 1 Jaeia 19, T SCHTEAT=AT LT RTcTeh! WIsi AHeaye a3 9 M= qaeiardt
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Read the following passage and answer the questions 16 to 20.

Galileo did not excel in the skill of preparing or reconstructing star-charts.
However, he focused his binoculars towards the skies and offered a natural explanation
of what could be seen. This is what made his astronomy revolutionary. The result
was that man disappeared from the moon and was replaced by mountains. However,
eventually his astronomy became dangerous, because it shook the premises about
the world which were so taken for granted by the powerful classes and the church
which served them. This could potentially challenge the entire social structure. Any
person who dared to do this, had to accept the risk therein.

FHoodT HTHTATE! AT / SPACE FOR ROUGH WORK P.T.O.
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Science is not just a collection of experimental information. Any given experiment
is not considered as great, unless it offers a conclusive solution to a controversial
theory. Similarly, unless it offers a plausible explanation to perplexing experimental
data; or it helps predict the conclusions of an experiment which has not yet been done,
the said theory is not considered as a great leap forward. If one wishes to see the tight-
knit interrelationships between science and production; between the ascendance of
new capitalism and the era of local discoveries, one has to study the trajectories along
which the center of science in Europe has shifted. Leeuwenhoek, a gatekeeper in Delft,
sharpened the lens he was using and created the first good microscope out of it. He
used it to observe droplets of water and the small microbes therein. The Royal Society
of London sent its secretary to meet Leeuwenhoek, and published his research articles.
This very society had earlier published Ready’s writings against the school of ‘Arbitrary
Creation’, which eventually helped to solve the very real problem of food-stock. The
idea of giving the credit of an invention to its first author is a comparatively new idea.
Even Newton was averse to the idea of bringing his inventions into the limelight. The
tendency of hiding valuable secrets in the form of monopoly i1s even more deep rooted
as one travels back in the past. The process changes because of the social nature of
production, however, the tools of production are privately owned and hence, patents,
guilds and monopoly are insisted upon at the level of technique and production.

16. o1 IaT=TawA YeicTashl shivrd faer fafsmaor s 3d 7
(1) TS T QPR EEETeard HW FHM- dags qafad I #od T8
(2) = B EETHTATEN ST R ST
(3) fagre s aifedtn d=a et
(4) TehET(EN FewT SF SR

Which of the following statements holds true according to the passage ?

{1) Royval Society of London refused to publish the research articles written

by a gatekeeper named Leeuwenhoek
(2) Church served the powerful classes
(3) Science does not include a store of experimental information

(4) The idea of copyright is modern
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17. I IATATIER Y22 J Fehari= 3T €Ll Sl el
(1) fogmra SR sar 3g A
(2) ScarEATH QIEE @IS ATtk 1 STHdTd
(3) ot GG YdeaT Agal <d
(4) AT Figena arevT=T wifedre v fied

According to the passage, patent and copyright are insisted upon because
(1) One cannot take any risk in science

(2) Tools of production are privately owned

(3) Royal Society approves the patents

(4) They offer an explanation for perplexing data

18. TIEFHH HATJER UETRT fgid foey e S qe s ?
(1) a7 STenfies Srfed=n g= Faal
(2) T AAF g Faerd
(3) AT IS UTEUT= Hifed = Tseiorn foza
(4) @ TIA SEEST 7T B

When is a theory considered as very important, according to the author ?

(1) It does not contain experimental data

(2) [t changes the centre of science

(3) It offers an explanation to perplexing data
(4) It is accepted in the Royal Society

19. AT GRS YRR 1 3% drTd ¢

(1) <INl THHEeHT AISAl 44 Fad

(2) e FrianTe <ETEtET WM TR Hel

(3) = T Sreffauiaa e

(4) TETUR aiH TE SReeE SETEa= SedAH @ BEU S

Why did the astronomy of Galileo become dangerous ?

(1) He could not prepare star charts
(2) His observations were responsible for disappearance of man from the moon
(3) He offered a natural interpretation
(4) He challenged the axioms about the world which the powerful took
for granted

ool SHIATETE! AT / SPACE FOR ROUGH WORK P.T.O.
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20. I AR A5 1 el ¢
(1) SN TFEamIem sreel saael
(2) =T THSEEEde Tades o
(3) IEFd TN fagid Arsen
(4) Tim areg s e e et
According to this passage, what did Leeuwenhoek do ?
(1) He created a food reserve out of small microbes
(2) He supported the established social system
(3) He proposed the theory of arbitrary creation

(4) He sharpened the lens and observed small microbes

Wreftel IART AT U9 . 21« 25 = 3w -
TSl FIE ToleR 39S AT, T 9 o TH AATd; T07 R0 S0, A7 G gl o fR Seny stae,
TH TS & A1 9157 UahleH a1ed. fafevand, aievam, SER aegeags 9t vhamdTe wa ey ae
T, IR0 ferfeard. o el ‘veaseTes’ 2 fosienn Sedl; WO |y Ush S1eTTEn eaewel el
e HTIE S F Tl § STTE STellehe ameaesa et Jrgn frasimen s fo.

AT W= Yot At B A, 79 dH-aredE v, o wd @ e, a3 9Ee vt s
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IR, FEUNS HAT AT W AR, H =w R AR, FEe 357 HTedn ] el | Bt B wrE
T IETel, T f=l o Steten 3t|al 1?7 1) dTeqid it 3o 3 e oy see; 907 ST I
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AT AR faamd, shift S o U, 9t Rl Fhd U] @TE s, S A AT |18
AU, AOTHY TS ST Argewaet aT!’ Feud STeal. a1 ‘a! | 1ee dheresl, ARIS, 3 379 et wian g
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“TETEE aiETen”
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I G ST ST ARG A= B TTes 1= Al Ted o AT S, el et 9
ST ARSI IR RaTeaTd STeer=n 4 a/9ea a=anE @ A5 A 15 39 afeaeg s
Fll Fell 13.2 31 Hfctas wd 1 €. 359 g TOTd S AT € 92 e HrEe 2

) ST SIS ATV YATETS: (19°C & 27°C) T 521 39 o fitezs 7 aferor S i e
FINETEN 307 FATEHE (20°C A 28°C) JaTestea A& sigga Wiftedt fam s s, wrfmren

Read the following passage and answer the questions 26 to 30.
“Coral Reef Ecosystem”

Coral require temperatures between 23°C to 25°C for their growth. The minimum
temperature must not go below 18°C. This temperature requirement restricts their
growth to tropical waters between 30° N and 30° S latitudes away from cold water
currents. The diversity of coral reefs decrease in higher latitudes to about 30° N and
30° S latitudes. North or South of this zone, coral growth does not occur. However,
corals lying in the path of northward moving warm water are an exception to this
rule. The largest concentration occurs near the equator where water tempceratures
are highest. The main obstacle to coral growth in low latitudes along the east coast

- Of oceans (west coast of continents) is the presence of cool water with a temperature

lower than 18°C for at least part of the year.

The exceptional occurrence of small reefs on the north eastern side of the pearl
islands, Gulf of Panama results from a local absence of upwelling, whereas on the
South western side coral growth is inhibited by cool upwelling caused by north easterly
trade winds. Coral growth is locally hindered by summer cool upwelling in parts of

the Somalian coast.
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by

20 R17

Between the Persian Gulf and the Gulf of Agaba the difference in coral growth
is due to the Shamal, a cold north westerly wind blowing in winter over the northern
part of the Persian Gulf so that temperature in that area is lowered to 15°C and
sometimes to even 13.2°C on the Kuwait reefs. At high latitudes, such as Lord Howe
Island, reef growth results from the East Australian warm current which flows from

the coral sea to the Southern ocean; the Bermuda receive warm water flowing along
the right hand side of the Gulf stream (19°C to 27°C); Southern Japanese Islands are
favoured by the warm Kuroshio current (20°C - 28°C). The exceptional occurrence of
Houtman’s Abrolhas, western Australia results from Leeuwin current which flows

pole wards along this coast and carries warm equatorial pacific water around north

west Australia.

26. @l TR o qrHTE fEsrd wae et AT it STiEe IEd 7

(1)
(2)
(3)
(4)

AT 10° W d 23° 9 SH
AHA 23° | 9 25° H T
AMEH 25° ° d 30° °§ T
qHE 0° B d 10° ¥ 2=H

Which of the following temperature conditions is the most favourable for
the growth of coral ?

(1)
(2)
(3)
(4)

Temperatures between 10°C to 23°C
Temperatures between 23°C to 25°C
Temperatures between 25°C to 30°C
Temperatures between 0°C to 10°C

27. e Tfvan AT YAt weht P el e I A1 Hem
(1) @ ivam fmrareny Hid Tam e Seeas
(2) 39T 9 A ST AN YA @EhiAl (AT sTgere! fHaiv
(3) T uivem A=A e 39 vErE el

(4)

EUGREIEIG

Along the west coast of continents coral reef formations are not observed because

(1)
(2)

(3)
(4)

Prevalence of cool ocean currents flowing along the west coast of
continents

The north-east and south-east trade winds create obstacles in the coral
formation

The equatorial warm current starts from the western coast of the continents
None of the above
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28. SIS Wieilet Yohl ST WG Yaled W= SATETRTn Tifcedia ffifd) amere ame 7

H. TS =E T

d. §IHA SFgleE™

%. famm e

T, dmfed R

(1) wad I aTfor g (2) o« 3T =

(3) ad 37 It % (4) ®FIF 0T E

Which of the following are the exceptional occurrences of coral reefs in
the world ?

a. Lord Howe Island

b. Houtman’s Abrolhas

¢. Gulf of Guinea

d. Somalian coast

(1) Onlyaandb (2) Only bandc
(3) Onlyaandc (4) Only cand d

29. ST 0T W YaTos WL FEIeR0 Faifers o1 7
(1) Torvagi vt yme (2) FehgTerTa=a1 G 9T
(3) s FaTerTa= TR T (4) omiEm FHeder qard were
In which part of the world the largest concentration of coral reef occurs ?
(1) Near the equatorial waters (2) Near the tropic of cancer

(3) Near the Arctic circle (4) In the temperate region

30. Trefiel Tl F0Ia1 e AT e Al FRolid TR ?
(1) OTR SIAT SFeitasT
(2) TR T Iedagd
(3) HTR AT A2ITE
(4) SfEEFETaTT Yo
Which of the following factor is responsible for low coral growth ?
(1) Downwelling of sea water
(2) Upwelling of sea water

(3) Under current of sea water
(4) Thermohaline current
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Read the following passage and answer the Q. No. 31 to Q. No. 35.

After Gandhi’s comment on Hind Swaraj in 1908, the meaning of self-rule and
self-determination continued and clarified. Once it was meant as independence or
self governed country of the Indian people as a developed country; If many people
understand India to be an international government, here ‘self’ means India and in
this context, Swaraj means independence of India as a nation. In the Hind Swaraj,
the difference is not expected only Kale Saheb instead of Gore Saheb. Gandhi would
have seen the all-round emancipation of the Indian people. According to Gandhi’s
opinion, every village would have to enjoy Swaraj or self-government; Though the
roar of Lokmanya Tilak ‘Swaraj is nmy birthright and I will got it," spread the concept
of Swaraj all over India. But Gandhi gave it a detailed, philosophic meaning. The
method of understanding self-determination was interpreted in the Hind Swaraj.
However, each use of this method starts a discussion like the earlier century. There
were many contradictions within Gandhi’s own theory and in some incidents of his
behavior led to many objections. Gandhi’s soft policy on criticisms of capitaltsm,
caste system and religious practices were based on reality. Gandhi’s base method
of thoughts of Swaraj was useful the beginning line for the rethinking of democratic
revolution; we can follow this statement and the experience of last century the
meaning of Swaraj has evolved into an all-inclusive freedom which is continuously
making new orbit,

In the agricultural struggle ‘Kasel Tyachi Zameen' Swaraj got classified
measurements. Here the full rainbow of ideologies from Gandhian to Marxist-Leninist
is visible and the differences within each! The struggle of Indian democracy still
discusses on the freedom of the landless, poor farm worker and unorganized workers
and policies of it. Swaraj of the outcaste or Dalit and low-caste got central position
in Indian political programme. Gandhiji’s Harijan Welfare Plan, Ambedkar’s Dalit
Mukti Plan and combining the basic elements of both with the government’s policy
of reservation has brought another innovative flow in the social transformation of
contemporary India. The Swaraj concept for women was originated from the women’s
education programme started in freedom movement by Gandhiji. In the last three
decades, the Indian women’s movement has given a new height to the commentary on
Indian democracy. It exposed the patriarchal dimensions of social structure, culture
and the day today behaviour. Apart from this, the new principle of dominance and
liberty was to formulated. So far, the methods of the unknown dominant ways the
society have been suggested. In this way, a feminist theorv would be a social theory.
It is not only the analysing patriarchal system and does not fight against the state.
It analyses all types of dominance and searches freedom in all fields.

Feedl ShIATATE! AT / SPACE FOR ROUGH WORK P.T.O.
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31. ‘TN I GFCIHd W ieTieh hIvTed] Seshie SuTEe gl ¢

Tt ee B e,

T AT T A0

SArermT= foesl e & GEeT Yayt gEEd].

T, e M e € geenr S g el

(1) 3 & Ao & (2) A o S
(3) W&, & AME (4) #,9, A0

3 o2 &

Which of the following factor/s are included in the concept of ‘Swaraj ?
A. Method of understanding self-determination.

B. Every village should experience self-government.

C. Lokmanya Tilak spread the concept of ‘Swaraj’ all over the India.
D. Mahatma Gandhi elaborated the concept of ‘Swaraj’.

{1) Onlv AandB (2) Only Band D

(3) Only B, Cand D (4) A, B,CandD

T, YR A §a
(1) @ A0 & (2) wF S
(3) A H 30T H (4) W, M T

In which of the following categories did the ‘Swaraj’ concept get classified
measurements ?

A. Mahatma Gandhi’s ‘Harijan Welfare Plan’.
B. Struggle for ‘Kasel Tyachi Zameen’.
C. Dr. Ambedkar’s ‘Dalit Mukti Plan’.

D. Struggle of Indian Democracy.
(1) OnlyBandC (2) Only B
(3) OnlyAandC (4) Only B, Cand D

oo hTUTHTE! FTTT / SPACE FOR ROUGH WORK

A



% 25 R17

33. WRAT=AT Tehta FRIsH ek Giciieieh 0 e Teadt T fiyameist am 7

A, EEA Fomv g

g, Fford Yo AN

%, S fhen sfeam ww

. T AT T

(1) Wad 3 30T (2) wFa T U
(3) #, 3, FAME (4) ®aq A, F A0 F

Which of the following factor/s has got central position in the political
programme of the India ?

A. Harijan Welfare Plan

B. Dalit Mukti Plan

C. Swaraj of outcaste and Dalits

D. Swaraj of lower castes

(1) Only Aand C (2) Omnly Band D

(3) A B, CandD (4) Only A, Band C

34. wrelicieh! Forear S Yy drenerEl st e Fed ?

¥, e g@d9w

q. AW qREdame! S@ds

F.  SidieTE T@ds

g, AT AT HIHIN T

(1) o1, 9, F qMr g (2) wFd A, 9 107
(3) wad @, F AT (4) wF A, F Ao g

In which of the following factor/s did the Indian Democracy become more
widespread ?

A. Feminist Movement

B. Social Reformist Movement

C. Agricultural Movement

D. Unorganized Sector Workers Movement

(1) A,B,CandD {2) Only A, Band C
(3) Only B, Cand D (4) Only A, Cand D
Hoeq] HTATATG! AT / SPACE FOR ROUGH WORK P.T.0.
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35. ‘W HeoydaTEd WicTeiish A e il
H. TS T g AT faenaa e,
q. ES HFeTA MRATE S T geds SHree an.
. T I P TEITEETE HAEE AL
(1) &, =F 37 (2) =, 3™ (3) 9, A (4) &, Ea™
In respect of ‘Swaraj’ concept identify the correct factors among the following.
A. Due to ‘Swaraj’ Movement Indian Democracy Developed.
B. ‘Swaraj concept includes all round liberation of the Indian people.
C. Only self-rule includes in the ‘Swaraj’ concept.

D. Only self-determination includes in the ‘Swaraj’ concept.
(1) A, Ccorrect (2) A, Bcorrect (3) B, Dcorrect {4) C, D correct

WA 3AW 9E 9. &. 36 4 7. F. 40 =t IW =

Tiredt s1efl 3l snEa S T e A 3o T wa. qe: W H e 3o -
fra #id; & Ui e, qeEe H%duqlaﬁwﬁmﬁm.maﬁWq@ﬂ{,m
foreT Soote FrEA. AR O 91 Aees wrEd faa 9iHn dre g, (9Ee e w
T fogaara paal 71 feeders s wer S areardiel R ST SHeTges, =
A, E AT R R v, ST TR e ST AT ATe el HTaT AT -

A FTOTET 1T = hIVATETA] SAT07 ol STAAvATETE], Jotell STTEvaFal gererual s JEnd!
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Read the following passage and answer the questions from 36 to 40.

Motors are devices that convert electrical energy to mechanical energy. Essentially,
a motor is a generator operating in reverse. Instead of generating a current by rotating
a loop, a current supplied to the loop causes it to rotate. Useful mechanical work can
be done by attaching the rotating armature to some external device. However, as the
loop rotates in a magnetic field, the changing magnetic flux induces an emf in the
loop; this induced emf always acts to reduce the current in the loop. If this were not
the case, Lenz’s law would be violated. The back emf increases in magnitude as the
rotational speed of the armature increases. (The phrase back emf is used to indicate
an emf that tends to reduce the supplied current.) Because the voltage available to
supply current equals the difference between the supply voltage and the back emf,
the current in the rotating coil is limited by the back emf.

When a motor is turned on, there is initially no back emf; thus, the current is
very large because it is limited only by the resistance of the coils. As the coils begin to

~ rotate, the induced back emf opposes the applied voltage, and the current in the coil
is reduced. If the mechanical load increases, the motor slows down; this causes the
back emf to decrease. This reduction in the back emfincreases the current in the coils
and therefore also increases the power needed from the external voltage source.

For this reason, the power requirements for starting a motor and for running
it are greater for heavy load than for light ones. If the motor is allowed to run under
no mechanical load, the back emf reduces the current to a value just large enough to
overcome energy losses due to internal energy and friction.

If a very heavy load jams the motor so that it cannot rotate, the lack of a back
emf can lead to dangerously high current in the motor’s wire. If the problem is not
corrected, a fire could result.

36. TS eI sifteht s a9 7
(1) T fohra Reaware fmfon s
- (2) T forasae g
(3) T=r &1 fmio oy
(4) =it 35 qefem
What is the role of a battery for a motor ?
(1) To generate a current by rotating a loop
(2) To supply current to the loop
(3) To generate a magnetic field
{(4) To supply mechanical energy
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TeTHeA AT e Tee w13 ATE ?

(1) AT T 3 AT
(2) e wemHie fegayare FH g
(3) ' 39 A1 e Fmtor
(4) AT Hzr dred alEe FH g

Why is back emf important in a motor ?
(1) It increases the speed of the motor
(2) It reduces the current in the motor
(3) It generates useful mechanical work
(4) It reduces the torque of the motor

38. Tt A FedAr faegayaTs GEATHICT T it #1 e ?

(1) RO AT foreeT, g HeTe S -
(2) oHTOT ATCF 9H G A Sl

(3) ST S TeATET TR U ST STl

(4) SR GEATATCAT HTE foreamae el

Why is the current initially very large when a motor is turned on ?
(1) Because the back emf is very strong

(2) Because the mechanical load is very heavy

{3) Because the resistance of the coils is very high

(4) Because there is initially no back emf

39. SR TR A W sTed!, dea STEn fareamTe e wh ?

(1) o q&= Ted

(2) A amd e
(3) & FH B

(4) ST HiTE FHIEET 9ioT 2 ATl

What happens to the back emf, when the mechanical load on the motor increases ?

{1) It remains the same

(2) It increases

(3) [t decreases

(4) It has no effect on the motor
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40. <] HIeteR AT IR TFeATE F ei5el 7
(1) wTER frgamae ged
(2) TR AT =T e
(3) TR fergenTrehi=al e HeaT == faed Ware 2% v
(4) W W FO i
What can happen if a heavy load is given on a running motor ?
(1) The back emf increases
{2) The motor continues to operate normally

(3) The lack of back emf can lead to dangerously high current
(4) The motor stops working

QAT IART STeH T ATIIE 9. %. 41 7 9, 3. 45 = 30 e,
Wt sdeaTere ferdt
= eft @1 o Fife- 19 TeminGs S seforeriardl s fief sta. Hete aer g,
3T~ TR HSYeS, HI0] T IS WG ATHeS HROTehe e HATSEHTCH 335 ST 373, 21 ST
TS, ST Y 2020-2 1 72 S &7 9 F1eaa af 202 1-22 #ed 3977 arad T
S I 9.2 % 3 NG, ATTEA & ¥ B o, FIfare FeheHa 74 T =z qeduera 4a s,
el favieh © awiferara 1, S maier it wiat sveen at gE=n wee s fmmidier s oo
2020-21 7¥d refeaer=h yul ATRad! eaatea SEaT FH TEen AT,
et A0 HeT™ &R FIRAT HEHHI=T Gioms Geifa ) TfRer 312, 7 2021-22 557 3,.9% 2t
AT Sl AU TR, T ATE e T TS 2020-21 74 3.6% THE . ST SRTSEI, 32
= (T ATIO STEehH %) U Ued a1 2021-22 W9 11.8% 3 Brdat, S 2020-21 5% 7 2o
wrZE! Bielt. Fal &R, TorTo: At wh Jomn S, FRA e Fati g giors @ 9, 2
&R 1 STIF TG 8.2% I AN Sh e AR, S e A 8.4% T e B
TR T i Fid AR 202 1-22 T TR0 3THM 7% T TIae 191 SiE S, a6
T GlEen aliet Tl T Ty fer vwieae T s memmigEen sl e s, aw s
A At SRR e 202 1-22 HE e HCl SR, 6T 39t HTo e 3 Saeria see
Tobwreft &1 3= Ufeeamye STEme Tree o1,
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Read the following passage and answer the questions from 41 to 45.
State of the Indian Economy

The last two vears have been difficult for the world economy on account of the
COVID-19 pandemic. Repeated waves of infection, supply-chain disruptions and
more recently, inflation have created particularly challenging times for policy making.
Faced with these challenges, the Government of India’s immediate response was a
bouquet of safety nets to cushion the impact on vulnerable sections of society and the
business sector. It next pushed through a significant increase in capital expenditure on
infrastructure to build back medium-term demand as well as aggressively implemented

supply side measures to prepare the economy for a sustained long-term expansion.

Advance estimates suggest that the Indian economy is expected to witness real

GDP expansion of 9.2 per cent in 2021-22 after contraction in it in 2020-21. This

implies that overall economic activities have recovered past the pre-pandemic levels.
Almost all indicators show that the economic impact of the “second wave” in Q1 was
much smaller than that experienced during the full lockdown phase in 2020-21 even

though the health impact was more severe.

Agriculture and allied sectors have been least impacted by the pandemic and
the sector is expected to grow by 3.9 per cent in 2021-22 after growing at 3.6 per cent
in the previous year. Advance estimates suggest that the GVA of Industry (including
mining and construction) will rise by 11.8 per cent in 2021-22 after contracting by
7 per cent in 2020-21. The service sector has been hit the hardest by the pandemic;
especially segments that involve human contact. This sector is estimated to grow by

8.2 per cent this financial year following last year’s 8.4 per cent contraction.

Total consumption is estimated to have grown by 7 per cent in 2021-22 with
significant contributions from government spending. Similarly, Gross Fixed Capital
Formation exceeded pre-pandemic levels on the back of ramped up public expenditure
on infrastructure. Exports of both goods and services have been exceptionally strong
so far in 2021-22, but imports also recovered strongly with recovery in domestic

demand as well as higher international commodity prices.
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41. R R areiatd i w00 & S a7
(1) wET= AT T
(2) TE3T - G TS
(3) wEaR
(4) =
Which of the following have created challenging times for policy-making ?
(1} Repeated waves of infection
(2) Supply - chain disruptions
{3) Inflation
(4) All of the above

42. ST Aol 912 T S S 0 3T qEiey Y

q. AR lerede g =id el e,

. WEIHHRICAH AR JEISTEt ST,

€. TRE3T IS 3UTATE] ATHFAS AAATE0
reTertsht Fm gty frae.

(1) wad o (2) wEW

(3) HAmora (4) #,9,% 0T

Which measures have been implemented by the government of India to prepare

the economy for a sustained long-term expansion ?

A.  Bougquet of safety-nets to vulnerable sections of society and business

sector.
B. Significant increase in capital expenditure on infrastructure.
C. To build back medium-term demand.
D. Aggressively implemented supply-side measures.

Choose the correct option.

(1) Only A (2) Only B
{3) Aand B (4) A, B,CandD
Foedl hTHTATE! AT / SPACE FOR ROUGH WORK P.T.O.
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43. TS SEETIHT, 99 2020-21 B 3T g2 72 FeAHa , a8 2021-22 T 39T AT
T ST IeATEN 9.2% 7 Aneet. Aren e I i,
(1) = snfis e @ TeE 49 1.
(2) &3 frasie aeifaard 1, guen enen ufeca faméidier sfis afom &1 2020-21 74

qut STessEaET i Bl
(3)  ufEeT TIeHES AT AFTatie TR HIST el
(4) (1) 7T (2)

Advance estimates suggest that the Indian economy is expected to witness
real GDP expansion of 9.2 per cent in 2021-22 after contracting in 2020-21.
This implies that

(1) Overall economic activity has recovered past the pre-pandemic levels.

(2) Almost all indicators show that the economic impact of the “second wave”
in Q1 was much smaller than full lockdown phase in 2020-21.

(3) The impact on health sector was not severe during first wave.
(4) (1) and (2)

44. T 2021-22 FEI RATH PG IEH &5 Ieqd A FSA ¢
(1) St smfor gem & (2) TR (@OTHTE AT ST ) &
(3) T & (4) = ad

In the year 2021-22, which productive sector of India will show the better
performance ?

(1} Agriculture and allied sectors (2) Industry {including mining and construction)
(3) Service sector (4) All the above

45. = 2021-22 FE UHI FAAIT 7% - AT I HETS AT FA,
(1) HTHFA Teia-Fereft wia drmeH
(2) R HErigE wemian wy@ feer wigae i stfeen
(3) =g awion e fafa 2021-22 75 SUETEEAH I TaeS

(4) et
Total consumption is estimated to grow by 7 per cent in 2021-22 because
of

(1) Significant contributions from government spending

(2) Gross Fixed Capital Formation exceeded pre-pandemic levels

(3) Exports of both goods and services have been exceptionally strong
(4} Al the above
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WIS IR ATE 9. . 46 9 U. . 50 = I foran,

QR . T i (C), TRGIH (H) 01 ATfas (0) 78T, el arferesl TEgRm
(N), €fIs (X = Cl, Br, 1) 3. ST, Hra-ft i S10[He) Heags a9 ¢ - * 378 a9ifae 916 321, CH,,,
Tortimed Y BEgSH U FHEEY U GeEds §u 3@, (structure of methane)

e T fRen e (SNt oy fRa siopen e w0 wgien fafirs ot wew @)
THIEITR FETeTe 321 ftensh 712 Bragidiel, — O — H 371fi & 87 sTeshieret (R-O-H) i3 - R
&1 IR T2 3R (—R = CH,, ,; 300 ‘n’ & e A0 Ten). shite s meel >C =0
T T SFaT

H

H H

| . l |

(i) AfceBRETF R, —C = 0 aﬁmwma%mgm_cz%orlq —Cc=0)
A, A0 (i) FE e, >C = O nfir o gymen Fiem (Rl_g —

R, where

OH
|
R, =R, or R, # R,) ¥ T&vIdm. H({ei T2 AT SAGHHTA T Th F6d — C = O, hreiadie]
OH OH

; |
ToraTees TTe T B STITOT IR ROt Hgetl b et 3kt (H — C == O and R —C = 0)

W,WTH@TW@HWW%S%WMWWWQE

|
mﬁﬁémﬁﬂc—o—mww@m%ﬁmwﬁmmmw%
o)
I I
(H—C —OR or R—C —OR, where R =R, orR;eRl)aa@Sm%r.
H

|
ﬁm@@@mmmm Fraigh, TEA ( _c—ﬁ_mm),%ﬁg

|
(—C — O— HaAE) 3. H&AE o I Geftar=an - 9 FHATE, o & fafay e

HEST HIATATE! AT / SPACE FOR ROUGH WORK P.T.O.
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SARFRITES s ggl Ha SrEdE. FEvS B B, TGN WA U a4, AT e gH

A G <l @ HATIOT e Tl =R S R .

Y FTalTacHTe A G C o (H,0),,, TV el Hefe St ) THra o geesit o efieragredt
sfceergs (o F2T) 3G 32T, C H, Oy, B UHT TFIST fohall IS Fohll eI 378 . g1l Sieftdl
ST AT Aol AT T[T T NGRS TRV, SAHHIEE 3a1, C,H,n O, Bblsrel Sefia AATerel
(T H,0 T ) E13A S HIHIGEHISS T80T ehist 3101 Tt fHesard. Zradshise 36l CgHg,0 ¢,
FER el HTE (G4 H,O a96) 81 diH TGS Feviste RpE, Tearei, At gais
ekl Uk Ueheh fiiadtd. WifeRiEEE 381, (CH o0s),,, e Jcltd STHl B3 Tfhier gue Uhs
CRESIGH

1 WA SN Uk AfceandF s e S e SISl RuTdTE, ST c=AT FrErEn
Were ‘o’ 3 FAW 3. FAN CgH | ,0p, Tod TAME TF freiteh forarers, e sl caven fordst

TEUTATE, S0 ST e Aer Yee gelisl ¥ aTd. B A o ARG et Ve Seied]

1 AT HEFHR AR afedq € Ia1. T CoH (O 3 71 eSS 378 Gl 34,
CHO

|
HO— C — H
|
HO — C —H CHO
| |
H—C—0OH OR (HO— C — H),
| |

H— C —OH CH,OH
| TS ST
CH,OH

RIS IR G|
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AT T8 ST, 30 e SaT41 a1 992 30 2id A1) a1 fernsfeess o2, =g

T e g, e wer sremfufcrs s AT (i e o1 ST YeEsean oA R v

SFEIT HATHOT = UFHFIRT Helel & g AT AT o1 Wiy o7 70rdt, 20 Sireiefier yeiss Sfafsfarstia,
et Yfer Yo ST A1 9V foreg, fwTin Fesdata/ aieer s,

H

O
/
\ /

I
HO — C*— H

|
CH,OH

e
&1 U e ST e ST U R g SR Ire S a st s @n
wpmeter s giafsfaefiareh sem 2n (3o n = wEte SE o Wmdie gen). s e g
S W T SO A revrTd. SR awgHeed fafis et me srmomi e e e,
AU &I Ee-en ToRATene: TTe THEadT FEuraTd.

Read the following passage and answer the questions 46 to 50.

Many organic compounds contain carbon (C), hydrogen (H), oxygen (O);
and some of them also have additional elements such as nitrogen (N), halogens
(X =Cl, Br, I} etc. The bond/s between the atoms in organic compounds are covalent,
and are indicated by a ‘- ’; eg. in methane, CH,, each hydrogen and carbon has a
single covalent bond.

Organic chemistry is also called the chemistry of functional groups (an
atom or group of atoms that confers specific characteristics to that compound)
eg. the functional group (FG} is hydroxyl, — O — H and the compounds formed
are alcohols (R-O-H) where — R is alkyl group (—R is — C,Hsph4q and v’ is the
number of carbon atoms). The FG carbonyl > C = O has two arrangements:

H H H

(i) aldehydic, — C = @ the compound is aldehyde (H—C= 0or R—C = 0)

TFHTeAT HTHTETE! JATT / SPACE FOR ROUGH WORK P.T.O.
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[
and (ii) ketonic, >C = O and the compound is ketone (R, —C = R, where
R, = R, or R, #R,). The combination of carbonyl group with hydroxyl group
OH

;

gives —C = O i.e. carboxyl functional group, and the compounds formed are
OH OH

carboxylic acids (H—C = 0and R—C = 0). Carboxylic acids react with
alcohols in presence of concentrated H,80, yields esters, whose general formula is

O 0
[ | o
(H—C —ORor R—C — OlehereOR = R, or R # R,). The characteristic

properties of esters are because of —C — O — functional group.
Bodies of living organisms contain large number of different biomolecules eg.

G H O

I I
carbohydrates, proteins (contain —C — N —), lipids (contain — C — O —) etc.
which constitute their structure, and are also part of various physiological processes
taking place in them. Thus, hydrogen forms only one, oxygen forms only two, nitrogen
forms only three, and carbon forms only four covalent bonds.

Though most of carbohydrates are represented by a general formula CX{HQO]y
i.e. hydrates of carbon, they are chemically polyhydroxy aldehydes (or ketones)
eg. CcH,,Oy is either glucose or fructose or galactose. They cannot be hydrolyzed
further, hence are called monosaccharides. Disaccharides eg. sucrose, C,,H,,0,,
on hydrolysis (using one H,0) yields two molecules of monosaccharides: glucose
and fructose. Trisaccharides eg. raffinose, C,gH3,0 ¢, on hydrolysis (using two H,0O)
yields three monosaccharides one unit of each: glucose, fructose and galactose.
Polysaccharide eg. starch, (CgH,;O3),, is a common ingredient of food grain, on
hydrolysis yields a very large number of units of glucose.

Monosaccharide with an aldehydic carbonyl group is called aldose, and their
names will have suffix ‘ose’ eg. Mannose, C¢H,,04. While that with a ketonic
carbonyl group is called ketose, and their some names end with ‘ulose’. These names
are further modified in accordance with the total number of carbon atoms in the
monosaccharide eg. Mannose, C;H,,0, can also be called aldohexose.

HESIT HIATHTET AT / SPACE FOR ROUGH WORK
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CHO
|

HO~ C — H
|

HO— C —H CHO

| |
H—C —O0OH OR (HO~C—H)4

l |
H— C —OH CH,OH

|
CH,OH

Structure of mannose

Structure of mannose

The smallest aldose, and the only one whose name does not end in “ose”, is
glyceraldehyde. It has a chiral center or has an asymmetric carbon* atom (a carbon
atom bonded to four different atoms or groups). A molecule with a chiral center has
a pair of enantiomers which are related to each other as object and its mirror image.

Each isomer of this pair rotates the plane polarized light in equal magnitude but in

opposite directions.

H O
N
C/

|
HO — C*— H

éHQOH
Glyceraldehyde
This property (optical activity) is shown only by those organic compounds which
have a chiral center. One can arrive at the number of optical isomers using the
relation 2", where n is the number of chiral centers. The molecules having the same
molecular formula but different structures are called isomers. If the isomers carry
different functional groups, they are called functional isomers, and the phenomenon

is called functional isomerism.

o1 THIHTATS! AT / SPACE FOR ROUGH WORK PT.O.
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_ | .
46. W H _ C — OH &= C4(H,0), #
|
C — OH
I

O
(1) WSS, T FTaEH 378

(2) SHEEESIFA ZES, TF HEaF 38
(3) TrzemErs, U Fiaieh o2
(4) UF FEEF AR

CH,
|

The compound H — C — OH i.e. C4{H,0); is

I
C — OH

O
(1) Aldotriose, a carbohydrate
(2) Dihydroxy triose, a carbohydrate
(3) Ketotriose, a carbohydrate

(4) Not a carbohydrate

47. TN = WA $9ue (f7 H,O FTEA) T qiferdia el STEa U W T, T BN

Usheh ST ST TeTaaiet Ushah T 21T, O ‘A’ < (e 7 IR,
(1) CoaHyyOy9 (2)  CpaHygO04
(3) CogHyr004 (4) CoatygOs0

The compound ‘A’ undergoes hydrolysis (Using three H,O) under appropriate
conditions to form a unit of glucose, a unit of fructose and two units of

galactose. The molecular formula of the compound ‘A’ is
(1) CosHyqOop (2)  Cy4H4g004

(3) CosHyo0o4 (4) CpaHyugO00

THoedl HIATATE] T / SPACE FOR ROUGH WORK
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' CH,OH
|
C =0
| . . : .
48. (Ho_C_H)S%a@T 3T SATI0T BT Wi e far=a STt 377Ed.
|
CH,OH
(1) fererem=, 4 (2) fFemaeia, 8  (3) AcsR@EN, 4 (4) icceads, 8
CH,OH
I
C =0
|
The compound (HO— C — H);is a and has pairs
of optical isomers.
CH,OH

{1) Ketohexose, 4 (2) Ketohexose, 8 (3} Aldohexose, 4 (4) Aldohexose, 8

49. WA HIVT T T A’ M B’ T el S 3R 7
A B

(|3T—IQOH H—C =0
<|3=0 (HO--(|3—H)4
(HO — ? — H), CH,OH
CH,OH
(1) A =7io1 B & %aa UwrashT afafafeeig s
(2) A ST B & e verHarT= foRamees e gags see
(3) A 3Tl B & wehHeri=h wfafafsasfn snfir e me gwh smwa
(4) A =0 B & Cernpr=ht wfafefersfie aret snfor foramenes me aaepfie aifga

Which of the following option is correct about compounds A and B ?
A B
CH,0H H—C =0
| |
C=0 (HO—C—H),
| |
(HO — ? — Hj, CH,OH
CH,OH
(1) A and B are only optical isomers of each other
(2) A and B are only functional isomers of each other
(3) A and B are optical as well as functional isomers of each other
(4) A and B are neither optical nor functional isomers of each other

THTAT HTATATE! AT / SPACE FOR ROUGH WORK
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50. Wciierish! Him wg FFeiE e s 7

oo
N
H_C—OH H_cC— Cl C
| | |
CH, CH, CH, —C — OH
| |
CH, H
A B C

(1) %3 A A1 B
(2) W A ST C
(3) wFF B =0 C

(4) FHATE

Which of the following compounds will show optical activity ?

| | N
H—_—_C—0OH H—Cc—Cl C
| | |
c|1—12 CH, CH; — C —OH
|
CH, H
A B C

(1} Only Aand B
(2) Only Aand C
(3) Only Band C

(4) All of the above

FHoedT HIHTETE! AT / SPACE FOR ROUGH WORK
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51. T =31 YK Tl AR d6 TR FEe 318, FeHIEes s e Fee fifya e 8
g AT TS, T e 3T 3 oft 2 Wit § 6 Hiet v, vt e 31ie. e deare S
SHIOT FEiea GTete St SAhdie SiaeaTa T 0.5 Hiet e Fided! e o

e R 3o e
A A
| ~
E E po k= po B po
3 S R - I 4)
N o U
EE //// . E\» // o < %o < co
N . . >
¢ 2 4 & F 0 2z 4 s T 0 2 a4 § > 0 2 4 6
Length (m) Length (m) Length (m) Length (m)

Nanu wants to create a rectangular pond in his field. He has not yet decided on
the exact dimensions, but its length will be twice its width and will be between
2 metres and 6 metres inclusive. There will also be a strip of concrete of width
0.5 metres around the edges of the pond, as illustrated in below diagram which
i1s not to the scale.

Select the graph that best represents relation between the surface area of the
pond and the area of the concrete edge vary with the length of the pond.

& E po hg po N.‘i pe
el po . ]

1) ¢ 2) £ 3) & 4) 2 ,

( ) E // co ( ) z | ’_//{o ( ) E < ( ) é o

. 7 .

o 2 4 6 0 2 4 6 0 92 2 5 0o 2 4 6

Length (m) Length {m) Length (m) Length {m)
THoodT SHIATATS! AT / SPACE FOR ROUGH WORK P.T.O.
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ARG STATE TSI Sieritd T : iy, 7e8, Fiid woeil, e 3 @ &g, amre fam
SgawE AT SEed) o a0T T [SEhe GOl ST S /il St . SeR W
fTeTeg =TS STl dea] THE el Tifla HeSehe ST AN 697 SR e Wek RIS
ST FESATERSA SR STl 9L 7ol Sa] Wed haThgd wd AT 37 HT3T SIaTTd 7l 317

%
3
%
(1) O (2) 2
3) 3 (4) 5

My local park has a network of paths linking various locations, as shown in the
below image. The stars on the map represent five of the park’s landmarks : the
fountain, lake, music gallery, sculpture and play centre.

I often vary my routes and I do not always take the shortest route from one
place to another while walking around the garden. I have noticed that when I
go from the sculpture to the fountain, [ always pass the music gallery, but that
going from the lake to the play centre, I never pass the fountain unless I pass

the music gallery twice.

Select the number of stars on the diagram that can be identified from the given
information.

%

(1) O (2) 2
(3) 3 (4) 5

oo RIHTHETS AT / SPACE FOR ROUGH WORK
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53. e Arevitdier sl =ere soamerdl aeheima T factean wafangs e,

24 29 26

27 22 31

30 28

(1) 31 (2) 39 (3) 29 (4) 33

Select the logical number for empty box in the following arrangement.

24 29 26

27 22 31

30 28

(1) 31 2) 39 (3) 29 4) 33

54. B efict Yeish g2 A TY U TR, C Hefict FIE T2 A U8 A, D 5 Tk B C 7Y AT
91 D atficl Ul T A W AR 71 Aifede SR YEiet YRl T e sree o 7
(1) C nefiet 1 e B v aed
(2) B Tt Sk o2 C WY 3T"d
(3) A Wi T oo B 3ten C wY A
(4) C vt 9% HeF A 99 AT

Every element of B is an element of A. Some elements of C are elements of A.
Every element of D is an element of C but no element of D is an element of A.
Which of the following statements are impossible ?

(1) Some element of Cisin B

(2} Every element of B is in C

(3} Every element of A is either in B orin C

(4} Every element of C is in A

FESHT FHTHTATE! AT / SPACE FOR ROUGH WORK P.T.O.
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55. | frmm | 2 fraw

IS T 12 T 20

T 9 | %15

Hererd ™ 37 T 14

* 12 wyelia? TRy 55 e

219 I B T, T, TA YA 1 T 7 F 13, S0 AR AR I, AT ArSASeIr=A] Yo

Hoitd T Tafe midl Feurd T T T hotel] T@hT e,
(1) 63 (2) 69 (3) 71 4) 74
1 day 2 day
Adult T12 < 20
Child Zg 715
Concession® T7 714
*Under 12 or over 35

Das familv members : husband, wife, two children : ages 7and 13, and mother
of wife who is in her sixties, are going to the science park programme this
weekend. The parents will attend both days with the elder child but Mrs. Das’s
mother and the younger child will spend one day visiting relatives. Ticket
prices are listed in below table.

Select the amount spent by the Das family if they buy the cheapest tickets.

(1} 63 (2) 69 (3) 71 (4) 74

56. U Thd T, ‘hope to see vou’ =1 8%d ‘ re so na di’ 31 3R, ‘please come to
see the party’ I THd fi ge na di ke zo’ 341 AR, ‘hope to come’ o1 Tk ‘di so ge’
ST STE AT “see you the party’ =1 Wehd ‘re fi zo na’ 3/ AR,
faereft Hora TRl 19T ‘please see you' |13 et vty 3foa w9 e
(1) ke te gm (2) ba od ke (3) te ba ke (4) sute ba
In a certain code language, ‘hope to see you’is coded as ‘re so na di’, ‘please

come to see the party’ is coded as ‘fi ge na di ke zo’, ‘hope to come’ is coded
as ‘di so ge’ and ‘see you the party’ is coded as ‘re fi zo na’.

Study the coding system used and select the appropriate code for ‘please see you'.
(1) ke te gm (2} ba od ke (3) te ba ke (4) sute ba

FHoed1 HIHTATST AT / SPACE FOR ROUGH WORK
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57. @l Frapioft 1€ aname. /e SISEeA Tea e 3 T S R ST e S g
1 Bt oreh o foaol 3 foeft smea. awier B, G, R 9 Y 13 e, fexan, e anfon
Tare T wiaeita sard. ferean wataiga an erd) s ae fomomt /4 fawma gz /7 faer,

VAVAN
VNV N N

(1) *ha (2) TF@ b fFa1 e

(3) R dfFate (4) % e

Study the below triangular card. It is folded along lines and joined to make
a pyramid. Given below are top views of this pyramid. Alphabets B, G, R and
Y represent colours blue, green, red and yellow respectively. Select the odd

top view/s of this pyramid from given options.

G
R
- B Y
a b o d e
(1) Onlya (2) Eitherborc
(3) Eitherdore (4) Onlye
FHosdT HIATATST AWM / SPACE FOR ROUGH WORK P.T.O.
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58. HI, A 3101 S 7 A AT TR YT Jod TAET I HAeT @ el Ui =ue: o, d
Frefl, T 3 AR TR e STRA. ekl GYE Hd gew Yt @ dretdrd, drh T T vee
et @ie FIAaTT ST Al THET T Teed et ATeAIeied B A WIE arerrd. Sriet wre
a1 ; Y ArEa ST T S 8 A1 o Meesaet A0 ot Hi =9k foreheT] sTHaT. 3 et @ aeral.
a1 foreret w71,
a1 : Hi Hien MUSavITEIE! 25 Teedl, a =9k e,

T« T =T TSrshe, 3 e TET S5 e

v Frreiean =aehr) Fadter seomr vt Frara,
(1) =
(2) =
(3)

(4) at enfor &1 FraE TR Te TSR

Mo, To and Vo who belong to three different communities, participated in
a dancing competition and one of them won the trophy. They belong to
communities namely Koki, Poki and Toki. All members of Koki community
always make true statements, all members of Poki community always make
untrue statements and all members of Toki community always make true
and untrue statements alternatively. They made following statements when
reporter asked them to comment.

Mo : If Vo had not disturbed me by laughing loudly while dancing 1 would

have won the trophy. Vo always speaks the truth. Vo is the winner.

Vo : [ was not laughing to disturb Mo. To won the trophy.
To : Mo won the trophy. Vo is not the member of Poki community.
Select the option that indicates the person who won the trophy.

(1) Mo
(2) Vo
(3) To

(4) To and Mo have jointly won the trophy

el THRIATATST TN / SPACE FOR ROUGH WORK
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59. U SuIITe sATI=IT=A1 UEH T, STTIaRIIIE] 10 Te ST Sefle=] ST e teu oo
o AT TSt = BT aeavTeT ol See 1R, Hiee Sgusi eaHEiE SiquE HOm
e STEIE ToreTe ATl SHHENTSA1 HHET STE=] S8 WS § S a1 e a6,
YA, ISR, T TS HISN FEULE FOHER, WA= A% ST S 43+ o 1 ST
AT 2el HRTHT Feerd THeg w1ehd ATE). a1 I a3 21w 31fee 118 =T ared
I T TSI o ST 3. T Jemeier 3+ oraut ol g& 3974,
U ST S RFATRTE Haid S gaes] O UF 70 e,

(1) ToE AT foraes ST FAsTTsM UTH T o= Gehieh! s F0=a1 Siea sAa|rai—] 9Ty
AT JOTR AT

(2) TTEETE TIZ SIEETEThgd §I0=41 L T30l SI2Te FOATHIE! ITHATER gsiel S0 2
ELBIERCT CR RIS C RIS

(3) TEE IET R ZTiight FeTae vt Ml e degT, gl GEsidd T8 U@aTe sadard

(4) T afl, T SR FOE IAe ST R ST ST 3R, 338 IR U
STITATAT ATRSH

A group of traders in a certain country has decided to take their whole taluka
‘offshore’ in protest at the insignificant amounts of income tax paid by big
businesses. An association of shopkeepers from the town want to use the
same controversial loopholes favoured by huge multinationals so that they
too can legally avoid this tax. One giant multinational, for example, has been
branded immoral for transferring profits out of the country and into the other
countries, where they receive favourable tax deals. But the shopkeepers of
the town cannot have it both ways. If they believe it is immoral for these
multinationals to avoid country tax, it is immoral for them, too. They should
continue to pay country tax in full.

Select one of the following, that if true, most weakens the above argument.

(1} Small businesses acting alone cannot obtain the same tax breaks as the
giant corporations

{2) The only purpose of the protest is to pressure the government into tackling
tax avoidance by big business

(3} Everytime the government comes up with a way of tackling tax avoidance,
lawyers simply find a new loophole

(4) One of the town traders found that last year he paid seven times more
corporation tax than one multinational company

FHESdT HTHTHATS! AT / SPACE FOR ROUGH WORK P.T.O.
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60. ‘=1 Fremelf wham s ey 71 Fred e e ST 4 @ st

s
a. 40 faemeff qfiegr <ol 7.

b. 10 foemeai when qoi Sl T1E revE  Idol o argefvl 7t A
c. ATl gretean fermeat<t dwan whan ot 7 Fom=TmET 5 0 1 A SR TR,
d. el e faenet=h v s foreneatien 4 ;1 4 S A2,

(1) a, b
(2) b,c
3) a,d
4) b, d

Identify two facts that prove conclusion : ‘Ten students failed the exam’ to be

always true.

Facts :

a. 40 students passed the exam.

b. 10 students did not complete the exam and so neither passed nor

failed.

c. Number of students who failed outnumbered those who did not complete

exam by 5: 1.

d. Number of students who passed outnumbered those who failed by 4 : 1.

(1) a, b
(2) b,c
(3) a, d
(4) b, d
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61. SfHT X =41 o qeh v sy favaoe a9 ae Sl e Tade vot R

(1) Z
o [N

Study the logic used for constructing image X. Identify option which cannot
be constructed along with dots using similar logic.

a0

X
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Nt 7T T SPETEE e T, ST A ST ST WEvHIE A T = S fEEene e
RRREAT eF® @4 A sraeTn fIsRs e, 33 -l Frogs T fomm e deet dren
TS AT ST ST AR JHE. T ] T =T FerehTare ST T g SUHRTe ST

R S e gl T ) S T T S e e S e

Fefiwa] STER Fam. STEARTY, T =41 Tl aeted, SO T § S 3 ST TraaTeT=

Teia g 318 eeie & TAHThed AT ATaeT T Ta8EH ATl

O ! e gYIEuH HaTd 3fed v e

(1) Frverm e frem 2 @ -ufam mfee s/ o @ 4o 30 6.

(2) T TS IR FEUIS T AT T Sl €.

(3)  wrEerr, Taneff a1for TETS) S SO cte SAehl ST St AT AT
A A AT ST A = e 3 S RTe HIERA S0 efeht it Sfie
EUGIGE

(4) TR ST T T T A1t STEeicA HEA @ e giere A HATER
FAAT T HTE ZAUT faget giaen 3 3ol gl g wa = aEE A,

Upanishads carry a weighty fable. Virochana, ruler of the Asuras and Indra,
Lord of the Suras, both once went to Brahma and asked him about God. They
were told to look in the mirror. Looking at his reflection Virochana instantly
concluded that he is God; Indra while looking at his reflection and spending
longer time in contemplation, realised that God was all. Some persons measure
development by the amount and material things that they can consume; some
persons measure their worth by all that they can uplift and divinise. The
difference is nothing less than that between an egocentric existence, engulfed
in its own gains, unhesitant to exploit, and an expansive one that is creative in
the highest sense of the world.

Select the most appropriate option that indicates central idea of the story.

(1) If Virochana had thought carefully while looking at the self-image, he would
have realized the truth.

(2) To see one’s own reflection is to discover one’s own characteristics.

(3) Persons who are egotistical, selfish and involved in exploiting others for
that purpose live as ‘Asuras’, while those who deal with all others with open
mind using their own creativity and assist them in their own upliftment
and deification live as ‘Suras’.

(4) Some people measure their own development by the amount and material

facilities that they consume, while others measure their worth by uplifting
others by providing abundant facilities and divine pleasures.
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63. iR 3, &, fastn snfor ey SEIHR T 3 TR e, T wat 3 sraeam g
34t T o for fora=n vt 3. denfis Sieen = FAER 3% e deen ST watT qER weea
mwmmmmmwﬁ.mﬁmmwwﬂﬁmw
ST feramiaq S oTe syer! e,

(1) ST (2) Taarmn (3) s (4)

When Anna, Bina, Ciona and Diana stand by height in a row, Ciona being
the shortest stands first while Bina comes to the third position. However,
when they stand by age, Anna being younger stands first while Bina occupies
extreme rear position. In both rows Diana remains at the second position.
Select the person who is immediate younger than Bina.

(1) Diana (2) Ciona {3) Bina (4) Anna

64. 20 FHTe SHICER TR Fefl R, Troieh Jarren 31 SFta Wi ST, fetean @ A v R
sAfereh YT I 2var=an fameaten yem smoT=n wi den R,
(1) 320-1 (2) 320 (3) 318 (4) 317
A question paper consist of 20 questions. There are 2 options for each question.

Select the number of ways it is possible for a student to attempt one or more
questions of the all given questions.
(1) 320-1 (2) 320 (3) 318 (4) 317

65. FHHC STUAETE! Hl 9 Hige TeR1 gSse THH 8 A{ 27 fufHe & 3% gr@Ta g, g W
deg1 o 9 ffe srEsift Smarred T Ju srecTEed el B, e e T goe
Tatd AFSH Fa 1 .

(1) @ A9t 33 fufe amea (2) wErem 17.75 i smeq
(3) weren 27 iR smed (4) &= awE 27 fufte el smea

When I left for work, the watch was showing a time 8 hrs and 27 minutes
exactly. The position of the hour hand and minute hand of this watch is
exactly interchanged when I was back home. Select the option that is closest
to new time displayed.

(1) Exactly 33 minutes to six (2) 17.75 minutes to six
(3) 27 minutes to six {(4) 27 minutes past six
HTST HIATATE! AT / SPACE FOR ROUGH WORK P.T.O.
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66. U eI TSI GeTEeRS S ; ST U e Hie FE S =, @6,
AT aﬂﬁéﬂﬁﬂﬁﬁ%ﬁﬁéﬁwmwwwﬁnmmm GIEHIE
STEER T Fal
1 ZTeATeET] UI3eE IR} & 928 Fae.
qeA

o, T wd fereneff, steaTTe T SETATETEY GRS SHTRA €IUT SHTAT SR
gt wEei et AfEr TR,
b. mﬂmmmﬁmmwwmwﬁmmﬁﬁ
fyeneft, sveaTaeh 3 FaTTETE) PR HRvET S .
c. Tk AT ST ST ST HE AR Sheie! TR, SR, S A7 g
FE T ETETE e FRERT e .
d. e Hedte gl Tate Al el e F v s ard
(1) a,b (2) b,c
(3) c,d (4) b,d
A Director of educational institution claims : instead of celebrating one day as
Republic Day, we constantly practice the ideals that made India a sovereign
republic by guarantying the pledge of justice, liberty, equality and fraternity’.
Choose two facts that support the claim.

Facts :

a. Itis compulsory for all students, faculty and staff of the institution to watch
televised display of military might of the country.

b. We conduct regular workshops for all students, faculty and staff with the
help of peace experts to deal with the hatred in a non-violent and peaceful
way. -

c. We strictly implement the rules of dress, food, language and behavior
towards others, which are formulated by our organization to inculcate
spirit of equality among all.

d. We have integrated activities that nurture the value ‘empathy’ into regular
learning activities to enable everyone in the organization to respect the
diverse lifestyles of others.

(1) ab (2) b, c

(3) ¢ d (4) b, d
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67. ‘A’ T WG THST IATET ST feetean vataigy == a9 faar,

¥

——
—t
—

S

SR

=

Study transparent sheet ‘A’ and select its fold from given options.

o=

—
= R
. -

S

=

SN
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Q‘ﬁﬂ%ﬁ'&lﬁ?ﬁﬂ a,b,c,d, e, fﬂ@lg%%ﬁﬂ%ﬂ. @ a7 ‘d’ WﬁT‘g’E}TEf\&TﬁFIT
SR, 7 BT ‘a’ S QT ST, ‘¢’ 71 ARTEAeA S0 HSEe S ‘¢ Sl Al I AT
b e TR SR, G g’ ST 3 A TR = e S

fdien mfedt=m Gevia Jed Ty st foum e,

(1) ‘@’ 37§ & w1 ‘e wer=ar=an afamien e

(2) ‘e’ TENIE ‘@’ WA e TR,

(3) ‘@’ FERIE ‘¢’ HARITA1 THHEE L.

(4) f TG FETEdT TEt qEdrE .

In a housing colony, there are seven towers a, b,c,d, e, fand g. ‘a’and 1 are
to the south of ‘d’ and ‘g’ and 1’ is to the east of ‘a’. Tower ‘e’ is to the north
of ‘¢’ that is situated near the south end boundary of the colony and to the
west of ‘b’. There are only two towers ‘g’ and €, to the east of ‘c’.

Select the statement that is always true with respect to given information.
(1) Towers ‘a’ and 1’ are situated to the south of tower ‘e’.

(2) Tower ‘€’ must be to the west of tower ‘a’.

(3) Tower ‘@’ must be to the west of tower ‘c.

(4) Tower f’ must be to the far east of the colony.

69.

1 1 a1 ST WA GeRTS 26 STE1 FieH S1E el = s A1 HreTdiel sreA1 HrarE He
153 16 37ef ATeeht, a1 Hrawm e .= T 20 T T S 7 s S e S
HTATEF BN A G STEavR w1 e,

(1) 176

(2) 200

(3) 220

(4) 70

While playing 11™8 match, a batsman is out for 26 runs, which raises his
batting average for the season from 15 to 16. Select the number of runs that he
should have scored in this inning to raise his average to 20 in this season.

(1) 176
(2) 200
(3) 220
(4) 70
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70. U fereindier= wridta e ZaEr 50 Hier e 10 HehaHT 1T shefl, Tk qof e

HATTTH Uil Jeb IRGGUIT 479 Fagr.,
(1) 180 T== (2) 190 4=
(3) 200 &%= (4) 210 ¥

Ayesha beat Daya by 50 meters or 10 seconds in a kilometer race. Select the
option that indicates time taken by Ayesha to complete the race.

(1) 180 seconds (2) 190 seconds
(3] 200 seconds (4) 210 seconds

71. fciom gegeeTde g Fgre s 3fya sfm fae,

- ©0l-
(1)

(2)
3) {[]

Select the appropriate image for replacing the question mark in given
relationship.

- @O0l

(1)
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72.. ST STET A1 T ¥ SATTETE el e S SOa e, 6 Tet AT g,
TeTi ATATEIEHT ;
“IeaT St 80% I TUTeT SEUATE SIS HAEH Fel ST AR 80% We Haa
T TeNeRT SEUaT=g1 STef HAaH Hdl ATe
(1) 7% 20%
(2) "HF 5%
(3)  20% TeT Sed

(4) THE 25%

A referendum was held in the village Nimboli, to determine whether it should
have a library or not. All adult members could vote; all of them either voted in
favour of having library or voted against it, or did not vote at all.

According to the local newspapers :

‘20% of those who voted, voted in favour of having a library’ and 80% of the
adult members of the village did not vote for having library in village”.

Select percentage of the adult members of the village voted against havinga __
library.

(1} Exactly 20%

(2) Exactly 5%

{(3) More than 20%

(4) Exactly 25%
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73. T (zaier fieie), amen (foee ficte), wfr (amy), awd (ardard fireie) o vyee e s AT,
fepemes snfon s e s wmoma sre. = W, Hicerm, Tfiem, wewm i 9P Ry &
Wiel AT, I 3T TG TS T FTaTe 72q ey, TSRS TRATATS Toahist 31T
S A Ervars ya Rl 2. e aee arEe ad stEean @ s e G AT TS
12.5% N7 sAfera firesd. Teferr=an Faspmoia = s oA, W T TS STHATH o7 I
STEeren FfFT ft T e, e fafe T e ur i SR e .
eI ST FIeT fohraTe Ze81 FA0H U Faltd 3fa 7o fig,

(1) TTa qea: diges, W, Fag =0, G0, IET Jr=1 TOET FOM= A0 I 515
(2) AT M qUI FATeEe R -, i, Fel 3 wRAEed SEv e g
SR s 1A 7 qiomht stiqesidrel Suwre S & 213 Ardeareh ThEmmE
(3) qummﬁmmmwwwwmw@
AT T SMETE! TUSVIR ATel 18 STt =i @ .
(4) AT, SR, TR, A0, Fog WS ST SN FeEr, a9, TY, WY, A, 33,
Rala (Italian Millet), Sava {Little Millet), Harik (Vargu), Varai (Barnyard Millet) are
rich in amino acids, fatty acids and other vitamins. T hey contain minerals that are
iron, calcium, magnesium, phosphorus and potassium. These food components
assist in the functioning of hormones in the body. The amount of glucose and
insulin produced in the body is controlled by them. Since their digestion is slow,
they stay in the stomach for a long time, so you get the satisfaction of being full
by eating less. They are high in lecithin which strengthens the nervous system.
Its phytochemicals reduce the risk of cancer. Blood cholesterol is reduced. Whole
grains provide 12.5% more protein than wheat. Sava is used in liver disorders.
Since millets are gluten-free, they can be consumed by people with gluten
intolerance. In short, whole grains are useful for body health due to various

characteristics.
Choose the one most reasonable fact that would weaken the above argument

— if true.

(1) South Indians whose food mainly consists of rice, nachani, kuttu chana,
tur, udad do not suffer from digestive problems.

(2) If wheat is completely excluded from food, the person does not get B-vitamins,
zine, bran, which are important elements along with gluten, and as a result,
the beneficial bacteria in the intestines are depleted and the immunity of
the intestine increases unbridled and rarely invites cancer,

(3) People with congenital celiac sprue cannot digest gluten in their small
intestine, so they have to eat foods where gluten is not detectable.

(4) Eating wheat is not inevitable as pulses, oil, milk, meat, fish, eggs,
vegetables, fruits etc. are consumed along with jowar, bajri, rajgira,
nachani, kuttu grains.
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TgeaA 9 i T - TR TR Sl W e (AT) O A 3RA. Ha i, 3 FAH FREH
(AnaaxﬁmawﬁHQ$nﬁﬁﬁ§mﬂvmwnm%m(SD)aqawamﬁ@mmmaﬁmﬁa%ﬁcm%

(1) SD wmﬁmmﬁémgmaﬂ%ﬁ-mﬁamm.
(2) SD wwmmﬁﬁmmmﬁ%mt@—ﬁ%ﬁmm.
(3) T @ - AT SD < e BT YreHTed il ATE.

(4) T qE -7 TR SD g FEHT v SeEied Feict .

There are security experts, as well as ex-fraudsters, who are experts in artificial

intelligence (Al). All people who are experts in Al are invited to join the team

of security designers (SD) by one organization.

Select one of the following that can be logically inferred based on the
statements above.

(1) All who are encouraged to join the SD team are security experts or

ex-fraudsters.

(2) Some who are encouraged to join the SD team are not security experts

or ex-fraudsters.
(3) Some ex-fraudsters are encouraged to join the SD team.

(4) Some ex-fraudsters are not encouraged to join SD team.

75. fim, S 9w i 1 @ aned gactt, fimren 5/8 frert, sfarr 0.25 AT e

75 =99 et

g5 (@R TR 9 T, -
(1) 700 (2) 600

(3) 550 (4) 450

Mina, Jiva and Faru share out a certain sum of money between them. Mina
receives 5/8, Jiva receives 0.25 and Faru receives Rs. 75.

Select options that indicates the original amount.

(1) 700 (2) 600

(3) 550 (4) 450
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Decision making and problem solving questions no. 76-80.

76. wﬁmﬁﬁﬁﬁ%ﬁwmwwmmmﬁﬁmm
T Rl T A AT, TH T, G 1 SR qE =N aierhe, i b &
T FEeted SN, d SIfard Terer srmeangss R ST 3 T areh R e o,
TROTETEAT QU0 reiier STsiaT SaTe 3761 SR fen SR, yewn Fet wfiig g sedt snfim
3fre. factean aftfeerdta fedrear st vartaian q=ht frae Fov arder 7
(1) 9@ el niea qreten Fadl sfim sroearge aftaTean gt Tier Foaeme

TA=ATERE 3T Y1 ST TR,
(2) FEHITER Hafm FuterTen S aTey F qret s qifErde s fok Sae
HTe e wren e foe aay w0,
(3) wiferd Fw=m=aren uftfEirdt A qreTen sedt vt aren =1 fen wisvar fEd e,
(4) SHITATE {ofa 7 S e et St Fe e TrEvarHt fad T w.

You are working as a head in the department that allots government quarters
to the employees as per the norms set up by the authorities. A group of persons
approaches to your reporting senior with the request that a particular person
should not be allotted quarter in their building, because the concerned person
is from the reserved category. Your senior suggests indirectly to accept their
request but at the same time also warns that you will be solely responsible
for the consequence of the concerned decision. Your promotion is due in next
few months. Which one of the following course of actions is your choice in this
situation ?

(1) Since your promotion is due in next few months. You are left with no other
choice but to accept suggestion given by your senior officer.

(2) Allot the quarter to the concerned employee as per rules and alert the
person about the situation in which you have taken the decision about
allotment.

(3) Narrate this situation to concerned employee and request her to wait till
you get promotion.

(4) Not take any action and keep on requesting the person that she has to wait

for some more time.

HoodT HIATATIT AT / SPACE FOR ROUGH WORK P.T.O,.
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77. Frcamda THETEEE wifim B SEeen s JeradiaTs! Tea Fere giudre fereo
AR T N T ST A S Wik o foreft svemermeffen s & wese fawe
ST TR T ST SRS e R A A, 1 GEESi STaE gl
S T TS EOT 9 Td HTRT. AT STTheH STEeTed] SAehie SIS gHE Ted ST
Wa&wamu&maﬁ%aw&mﬁwwwmmﬁwm
118 ST, Daffodils B a1 fTFaTETE) =0 Sean §-Tre Jfee faeneatadd u
(1) I SIS SHE 39 R Sy Tfecd et A A sterrean e =i
et i Hraeft 7
(2) Wwﬁaawﬁmﬁqﬁnwﬁmmﬁmm.wm
1 serEta SfiaTd A1 FiEdl ST FI TS ST e ¢
(3) T T AT A ST AR T STERE Uehe FIE A BT S -

Ffl a1 w3 grel e ¢
(4) = sBfaa ST e T A FATETE! gre 1ot i e ¢

As the education officer you are a member of the committee constituted for

interviewing teachers shortlisted for awards from the district. You are analyzing
their documents related to teaching learning processes and its impact on
learners’ personal and social development. As you are going through these
documents you are designing probing questions related to their work. You
came across a heavy file of technology savvy person but you did not find single
documentation of teaching learning process and its impact on the concerned
group of learners. For example, this teacher has written about how he delivered
e-self learning material for learning poem Daffodils. You will ask him...

(1) With what purpose did you design e-self-learning material and how did .,
you test outcome of this learning ?

(2} You must have learned many poems during your school and college
education. What purpose did this poem learning served in your personal
and professional life ?

(3) Apart from reading and listening what other activities or experiences did
you design to make learners their ‘learning visible’ ?

(4} What activities did you design to examine ‘impact of learning’ this poem
on learners ? .
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78. T WHECA1 AT famTengs Famam T Sieciean grel A SIaET gE AT ey ge
&1 fei st 1T, @ wd ks shvenferdr qof s o st = HreTEER
TR Sl STEe Hefl AT, 3T A1 F e A G WA qosa1 et e T, a1 e
AT Geft=! EIOTR o 2 A1 fasamieie weamn Qo= saehiea araefisre Aot et e
Fft 1€ 71 v Tt Fevanad) feteartieh T watareh g e we 7
(1) haTfer HIVTITET ST SfareT=t ardien oM ATel ¥efl S7men s, Far e
RIUTCTET TS HATTFRTTE TATH AT I SUATHTS FER0T S

(2} SHAEETEREE TAaV[E TV o IR 7 STeadl Saa & Fuamndl 7l et
=Y .

(3) RATHTH ¥¥H T4 7 J1 HISIvmard! oY TSTehid Hrasweatst sraeel 99 I,

(4) N YT TEET SUATTS! oY et shiet@e Saen s = wifedt freavamard
TETE el SARFR Friwret g areTe.

You are working for setting up a new business venture that requires a license
from State government regulatory department. You have submitted the
application for this purpose after fulfilling all the procedural formalities and the
required documents. Months have passed after submitting the application but
you are yet to get license. This delay is causing loss of business opportunity
than the amount demanded by a chain of persons working in the department for
granting the license. Which way would you choose for sorting out this problem
from following options ?

(1) Patiently try to convince any senior officer in the department for granting
the license as early as possible hoping that he might not expect illegal
gratification.

(2) For starting the business without wasting the time you will pay the
demanded amount as business investment,

(3} Use your contacts with any political worker to get the issue of license settled
without paying bribe.

(4) Contact some RTI activist to get information about the time frame in which

such license are required to be issued.
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79.' T UF eI T e S TRV T e Al S QEnss el R gee 2 wied
At ¥ FTH 0 T SR AR T yeeeRR TE Qe ST S a3 e
I eV TG FH S S qrrel] At Shofl TR, JE I e € Fehed gl mrted sedd 01
AT TR ST ST R e ST de anfi wieh eaTet Anre. s fete waiEdie
I FreTdieE SR v 3T 7

(1) o QeI 18 eaTer i =2 3aq SaeaTe © SiaT FTH TR0 greTell T e,

(2) TR E GO TESHIITS AT GEaTd ST A 1 hHrErdt Ao T S gt
qoia faeamere i FHVR 318 ST |,

(3) fafire wremadfia Ty gl w01 srTea SR IR Jihars J Sl SEr H
.

(4) Tora SRt FmTETd ATEwes e fHed s qE g SErE Sl Twn.

Your colleague who was heading a project is suffering from some ailment

and cannot continue with it at least for next two months. The administrative

head of the department requested you to head this project in addition to your

present work. Since you are expected to complete your assignment and this

project within stipulated time, it will demand you to invest more time and

energy. What will be your response to this from the options given below ?

(1) Since your present assignment is keeping you completely occupied, it is
not possible for you to accept this additional work.

(2) Suggest the name of another colleague stating that she is more competent
for this work and her present workload is not heavy as yours.

(3) Accept the additional work without any argument as timely completion of
the project is necessary.

(4) You will accept the additional responsibility only if some manpower is

provided at least for some routine work.
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80. T A TR SR, ST qre] U1 JRvTiel ST STHTien 9 23 37fies auigs i
Wwﬁm%ﬁ%mwmﬁm%mﬁmﬁﬁmw
SIS ST, 2 fereererro sreame 211fon 2 i efteri et semeieh qedt s
qﬁ%ﬁaﬂm@wnﬁﬁ@mﬁwé@qﬁwwﬁﬁqﬁwmwww
AT SETA e AT 3Tl SR, T & e ST S 2 e 9T 3R, 3 qreren ey
(1) e wTes aTes adamr= TaTSThe FHEH fravamd fifeai=h G

o=+ qeTa oot ezt o e iiied e 118 STE1 YT FoaTars) Hrade F.
(2) Hﬁmwﬁxwﬁﬁwmwwﬁ,4|m|4¢¢{ddirmm,a§¥i@
Bt 2 Feqfeit Fraes: awamerti=n Qe 39 1 e,
(3)  FresaIe FAON &  SATE THTETATSHTS TS AT, g3a ST e aw 3
AT 21 aRgeydt frass TwmEs A wrE Fe,
(4)  SNWTETEN 35 STETETS] A1 S FHIAS HE A e e A e = e FeRieaty
ST TIeT: =1 SHITIHN S Fd HIRT AT A0 JTeTd TTET e,

You are a freelancing journalist. Recently you read a novel based on documented
sufferings and exodus of people of minority tribe from certain region that
happened more than two decades ago. You are from this minority tribe. You are
very well acquainted with the realities of the exodus and the hardship faced by
people of both the tribes. In your opinion the author has used her writing skills
to emphasize how cruel were the victimizers towards your tribe. Thus novel has
succeeded in getting sufferings of your tribe acknowledged by people from larger
society. But you know that this is only the half-truth and it is agonizing you.

You will write articles to be published in different media to present.

(1) the position of the victims as sharply distinct from and as opposed to those
of their victimizers using selected authentic documents and gain empathy
from society at large with propagation stance.

(2) fact that though minority tribe got displaced, all misplaced, majority tribe
members were not perpetrators and both tribes were misguided by their
narrow minded leaders by using evidences of selected documents.

(3) fact that victimizers were also victims of daily hardship, tragedy, and
hopelessness along with the loss of rights and respect by using selected
documents.

(4} the reality by documenting how members of these two tribes are defining
themselves in relation to their respective narratives of victimhood after long
period of more than two decades for avoiding insurgence of hatred.
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(8) Wy fafka Seiean fafire swfra #e @ (TF 7% ) F09. TegfereheafafEa Iaierat J1 5ot e
o T ST 3 T TS ST e TR, ST WIS STEet A CATER SHEHTIER T S heled e
Bo SRR SR ST AT - 82 AT atgAHR FRAT FUAT 5 o I ST AT U
et AT S /R TR T TR e s Ed T k.

(9) T TR ST i el Yo UueaTe IHARIET €1 WYY R T ST SR 23 ST
AT ST, AT T SeTaTiR FTATgEl JHEET HTIea I TRTT -1 aeasrRTRS 1 fae wa

O ITEYEF TR,
94T a9
9. %. 201. HeT=hl =Ter T ORI FIUA T : T et 7
(1) T g Sead! (2) Sveres faaEm
(3) T THHETEA T (4) TiTesERw TG -

2 TR A I (3) T AR WA 3 Y. W A1 G I (3)” €. g
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